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It is sufficient that - Brpn 9 PR K97 NN
we are not excluding him (me) from the community.

OVERVIEW

X'"2w1 maintains that a pnw 551 is 711757 200, The reason given by the Xnx
is that the 9911 says, ‘at least they are not excluding me from the community’.
The understanding of this explanation would seem to be as follows. If the
accused knows that he is not a 9711 he would surely protest, for he knows that
when an investigation will follow it will absolve him of all m>05. However a
(possible) 77r when accused prefers to remain silent. His reasoning is that if
I remain silent I will merely (at most) be excluded from 12175 but not from
the P%7w° 97p. However if I protest, it is possible they will find out that T am
also 77p% 9109; not only 11709, The question moon deals with is why this
complicated reasoning to be 1117137 Y019 a pmw Hon. It seems obvious why he
is 7100, He was accused of m>%n and did not deny it. That is tantamount to an
admission. There is a general rule that X°»7 AXTWM2 Ap nw. Silence 1is
equivalent to admission.

nooIN asks:
= Y1 RP MITINT OIVN PINYT RN N1IIY NYY INAY 7298 N1 MINN ON)

And if you will say; why is this reason necessary? The X713 should say

that a pnIw 9711 is 2109, because his silence indicates that he is admitting to
the accuser that he is a %n. It is seemingly unnecessary to say that a pnmw 9%n is 2109 on
account of 7P % 1°pon K97 7non when there is a much simpler explanation.’

mooIn goes on to prove that the reason of AXTIID 7pPnw is valid, for it has already been
2
used:

! According to the current understanding of 121 7°non, the Y5 is showing his willingness to accept his
m>o5 to N5 (by his 7P nw) as long as he will retain his %7p? M w>. There is an implied 7877 7P°NW in
this reasoning. MooIn is asking let that be the entire reason without adding the "27pn 12 11pon KY'.

* Seemingly one may argue that N is not 7X72. Let us assume that the accused woman was becoming
engaged to marry a 772 when she was accused of being a 17771 and she was pnmw. Why is she pnw?! If this
is an admission that she is a 7997, then why did she attempt to marry a 77> initially! And even if she is
unsure why is she not mx?! The 7PN may be because she is unconcerned about the accusation. It would
therefore seem that the reason she is 2109 is not on account of the 7p°nw by itself, but rather because of the
additional support of the 191 ;7°>no°n. When the woman is accused of being a 725, and is not responding, it
is not because she is unconcerned about the accusation, but on the contrary, she is concerned that if the
investigation will continue (on account of her ;i"Mx), then she may suffer more dire consequences; she will
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- “ANTYNS NPT DIVN RND NINY 9109 oMY 9tnmn NNT
For according to the p''n a pnw =m» is 05 because his 7P nw is an

implied ATV -
= NYL INNIN 21DIT PYNY 290 PMY DINT P11 NI

And the same ruling applies by a pnmw %9 that he is o2 for the same
reason; namely that 78772 Ap°nw (without the reason of 7°non).

Mmoo anticipates a difficulty and resolves it:
= ANTIND NPINY NN RY DYDY PV 1192 52X 2) DY IN)

And even though that according to X"2w7 we do not apply the rule of

FIRTIID APONW concerning a AR, In fact a pmw 7mmn is w3, This would seemingly
indicate that X"2w" does not accept the logic of X772 pnw (and therefore cannot use it
by a pmw 29on).

Mmoo rejects this reasoning. In truth X"2wA also agrees to the logic of AXTIAD AP NW; it is

just that concerning a 71 we cannot utilize the logic of I8772 Ap°nw, and —
= 1190 HON NDP IMINT 9207 0IVWN 13N

That is because X"2w" maintains that a =% is publicized; it is well known
who is a 7mn. Therefore this accused 7mn sees no need to respond; since it is not known
that he is a 71, this in itself proves that he is not a 71mn. However by a 991 (who is not
publicized), where this argument is not applicable, X"2w" will follow the logic of npnw
X712, The question remains why say that a pnmw 9911 is 7109 because of 191 7°non, when
it is simpler to say that he is 2105 because X712 7P NW.

N1B0IN answers:
- (19YN9) 5nP0 1Y 15PN KT AMNDN 930 KWIPS 5971 91319 Y

And one can say; that this is the interpretation of the phrase ‘he
presumes it is sufficient that we will not exclude him from the

community (of 7129712)° —
= 991 1P 199N NIY 29 YY AN ANND PN 1IN WIS

The interpretation of the word 777" is that they will not exclude him even
from the community of 2317155 he will be accepted 11705, And even though
that this accuser is shaming him and calling him a %91, he is not perturbed for —

become 2777 2109. This concern tells us that she is unsure of her mnw> status. It is only the addition of
7°non that allows her 7p°nw to be considered as a 78T, According to this reasoning, if there can be no
worse consequences, for instance if one is accused of being a 71n, then the mpnw should not be 2.
However moon continues that by a 1p°nw q1mn is also 201.

? There is no 77°non by a mn, for nothing worse can happen to him, concerning 1onY.

* We derive from 2mn that 8T 7P nw even when there is no additional reason of 131 77>*non.
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He presumes that they are not excluding him from 723772 %71p; people will

not pay attention to his accuser, provided that he remains silent —
= 1MV 9391 9927 19N NNY ON 912D

And he assumes that if he will protest and argue with the accuser, they
will revisit and investigate the matter and will disqualify him from 7.

It seems however that m»o1n did not answer the original question; why are we not 7012
the pnW 551 on account of ARTITI 7°PNW as the PN is 2010 a pPMW mn. ModIN explains:

- ANTIND APINVT 9N XD RNAP NINY PMVY 919102 0) 79V Nt oy
And this reason applies also by a pnw am» according to the p''n; and
that is the reason why a pmw aman is 2109. And we do not assume that

ANTIT2 APSNW. NYoN maintains that in the case of pMwY 71N (according to the p'"n)
and pnw 991 (according to X"awM) the logic of nX72 7P°nw does not alpply.5 We require
more substantial proof to be %010 a pmw. The proof may be as follows. When a person is
certain that he is a 7w2, he will definitely deny any and all accusations against him; he
has nothing what to fear. However a 7105 20 is hesitant to respond to accusations. He is
under the impression that there is more to gain by remaining silent than by protesting. If
he remains silent, the entire issue may be forgotten and he will retain the status of a
complete w3 (even 11770%). However if he protests it may turn out that the accuser was
correct and he will forfeit his former rights. The reason of 7non (combined with his
7°nw) is what makes the 9109 pnmw.

nooIn concludes:
= U90P2 ¥99 1

And »''w", also explains it in this manner.®

SUMMARY

A pmw aman (according to the P"n) and a pmw %0 (according to X"2awN) are
5109 on account of "1 7»non.” They assume that if they remain silent they
will retain their original Mw> ([even] to 7117D).

THINKING IT OVER

> A person is not required to answer charges brought against him based on hearsay and rumor. See
‘Thinking it over’ # 2.
% Mmoo may be referring only to the interpretation that mpn 12 “pon X2 refers to 7172 2P (see X 71" *"wA),
however he seemingly cannot be referring to the 9109 of a pnmwy q1mn (according to the p"n), for >"wA (see
P"nn"7>"wA) states that he is 9109 on account of X711
7 See “Thinking it over” # 3.
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1. Is there any difference if the 9109 is on account of IXT2 7P°NW, or on
account of 7°non (in the manner NM2ON interprets 77°°N0ON)?!

2. Why indeed do we not say here® ax7i5 ap>nw?’

3. According to n15o1n that 7P°nw by a n (according to the 13127) and 7P nWw
by a %11 (according to the X"2w") are 7109 (not because of XTI 7P°NW), but
rather because of "1 g»non  &Y;'° why therefore is the reason of 7»>non X7
brought only by a 991 0w (according to X"2wn) and not by a aan pinw
(according to the p"n)?!ll

8 See footnote # 5.

? See 2 p"0 2 "D DRIM MK,
10 See footnote # 7.

1 See H"wamm R"wAAR.
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